

St. Louis County, Minnesota



Date of Report: 5/10/2025 5:42:33 PM

			General De	etails			
Parcel ID:	141-0050-06778	3					
Document:	Abstract - 78851	5					
Document Date:	05/30/2000						
		Leg	al Descriptio	on Details			
Plat Name:	HIBBING						
Section	Тоw	nship	F	Range	Lo	t	Block
34	ł	57		21	-		-
Description:	N 184 FT OF S	769 FT OF E	623 FT OF SE1/	/4 OF SE1/4			
			Taxpayer D	etails			
axpayer Name	STEEL MARK E						
Ind Address:	3511 S PINTAR	RD					
	HIBBING MN 5	5746					
			Owner De	tails			
Owner Name	STEEL CATHER	RINE M					
Owner Name	STEEL MARK E						
		Paya	ble 2025 Tax	c Summary			
2025 - Net Tax \$4,198.00							
	ial Assessments			\$0.00	\$0.00		
		al Tax & Special Assessments			\$4,198.00		
	2025 - 10		-		\$4,198.00)	
	_	Curren	-	s of 5/9/2025)			
Due May 1	5	Due October 15				Total Due	
2025 - 1st Half Tax	\$2,099.00	2025 - 2r	d Half Tax	ax \$2,099.00		2025 - 1st Half Tax Due	
2025 - 1st Half Tax Paid	\$2,099.00	2025 - 2r	d Half Tax Paid	\$2,099	.00 2025 -	0 2025 - 2nd Half Tax Due	
2025 - 1st Half Due \$0.00		2025 - 20	2025 - 2nd Half Due \$0.00		2025 -	Total Due	\$0.00
	40.00				2020		
			Parcel Det	tails			
Property Address:	3511 PINTAR R	D S, HIBBING	5 MN				
School District: Fax Increment District:	701 -						
at increment District.	- STEEL, MARK &		=				
Property/Homesteader				25 Payable 2	126)		
Property/Homesteader:				-	•	Def Bldg	Net Tax
Property/Homesteader:			Blda	Total	Der Land		
Class Code Hom	estead atus	Land EMV	Bldg EMV	Total EMV	Def Land EMV	EMV	Capacity
Class Code Hom	estead atus omestead	Land	Bldg EMV \$264,300	Total EMV \$283,700			



St. Louis County, Minnesota



Date of Report: 5/10/2025 5:42:33 PM

				Land D	etails				
Dee	ded Acres:	2.63							
Wate	erfront:	-							
Wate	er Front Feet:	0.00							
Wate	er Code & Desc:	W - DRILLED WE	LL						
Gas	Code & Desc:	-							
Sew	ver Code & Desc:	S - ON-SITE SAN	ITARY SYST	EM					
Lot	Width:	0.00							
Lot	Depth:	0.00							
	dimensions shown are no								
https	s://apps.stlouiscountymn.g	gov/webPlatslframe/fr		<u> </u>		ions, please email PropertyTa	ax@stlouiscountymn.gov.		
			-		etails (HOUSE	E)			
	Improvement Type	Year Built	Main Flo	oor Ft ² Gross Area Ft ²		Basement Finish	Style Code & Desc.		
	HOUSE	1977	1,0	72	1,072	AVG Quality / 756 Ft ²	SE - SPLT ENTRY		
	Segment	Story	Width	Length	Area	Foundatio	on		
	BAS	1	8	8	64	BASEMEN	NT		
	BAS	1	24	42	1,008	BASEMEN	NT		
	DK	0	4	4	16	PIERS AND FO	OTINGS		
	DK	1	16	24	384	PIERS AND FO	OTINGS		
	OP	1	9	16	144	FOUNDATION			
	Bath Count	Bedroom Cou	int	Room (Count	Fireplace Count HVAC			
	2.0 BATHS	2 BEDROOM	S	4 ROO	MS	- C&AIR_COND, G			
			Improver	nent 2 De	tails (24X24 A	G)			
1	Improvement Type Year Built Main Floor Ft ² Gross Area Ft ² Basement Finish Style Code				Style Code & Desc.				
	GARAGE	1977	57	6	576	-	ATTACHED		
	Segment	Story	Width	Length	Area	Foundatio	on		
	BAS	1	24	24	576	FOUNDATI	ION		
			mprovem	ent 3 Deta	ails (42X45 MO	RT)			
1	Improvement Type	Year Built	•		Gross Area Ft ²	Basement Finish	Style Code & Desc.		
	POLE BUILDING	2000 1,890 1,890		1,890					
	Segment	Story	Width	Length	Area	Foundatio	on		
	BAS	1	42	45	1,890	PIERS AND FO	OTINGS		
	<u> </u>		Improve	ment 4 D	etails (8X12 S	Г)			
Improvement Type Year Built Main Floor Ft ² Gross Area Ft ² Basement Finish Style Code & Desc.									
	TORAGE BUILDING	0	96		96				
	Segment	Story	Width	Length		Foundatio	on		
	BAS	0	8	12	96	POST ON GR			
		-							
	Improvement Type	Year Built	Main Flo		etails (8X12 S Gross Area Ft ²	Basement Finish	Style Code & Desc.		
	TORAGE BUILDING	0	Main Fig 96		96	Dasement rinish	Sigle Code & DeSC.		
		-				-	- 		
	Segment BAS	Story 0	Width 8	Length 12	Area 96	Foundation POST ON GR			
	DAG	U	0	12	90	POST ON GR	UND		





St. Louis County, Minnesota

		Improve	ement 6 Details	(ST 6X15)				
Improvement Type Year Built		t Main Fl	oor Ft ² Gross	Area Ft ² Base	ment Finish	Style C	ode & Desc.	
STORAGE BUILDING 0		90	D 9	90	-		-	
Segme	nt Sto	ry Width	Length	Area	Foundation			
BAS	0	6	15	90	POST ON G			
		Improve	ement 7 Details	(LT 5X10)				
Improvement Typ	e Year Buil	t Main Fl	oor Ft ² Gross	Area Ft ² Base	ment Finish	Style C	ode & Desc.	
LEAN TO 0			50					
	Segment Story		Length	Area	Foundation			
BAS	1	5	10	50	POST ON GI	ROUND		
		Improvem	ent 8 Details (C	ONTAINER)				
Improvement Typ	e Year Buil	t Main Fl	oor Ft ² Gross	Area Ft ² Base	ment Finish	Style C	ode & Desc.	
STORAGE BUILDIN	NG 0	16	-	60				
Segme		•	Width Length Area		Foundation			
BAS	BAS 1 8 20 160		160	POST ON GROUND				
		Improveme	ent 9 Details (RC	UNDPATIO)				
Improvement Typ	e Year Buil	t Main Fl	oor Ft ² Gross	Area Ft ² Base	ment Finish		ode & Desc.	
	0	78	8	78	-	PLN -	PLAIN SLAB	
Segme		•	Length	Area	Foundat	ion		
BAS	BAS 0 0 0 78		78	-				
		Sales Reported	to the St. Louis	S County Auditor				
Sa	le Date		Purchase Price		CRV	Number		
03	3/2000		\$119,000		1	34467		
		A	ssessment Hist	ory				
	Class Code	Land	Dida	Total	Def	Def		
Year	(Legend)	Land EMV	Bldg EMV	Total EMV	Land EMV	Bldg EMV	Net Tax Capacity	
	201	\$20,100	\$284,600	\$304,700	\$0	\$0	-	
2024 Payable 2025	Tota	I \$20,100	\$284,600	\$304,700	\$0	\$0	2,856.00	
	201	\$20,600	\$263,700	\$284,300	\$0	\$0	-	
2023 Payable 2024	Tota		\$263,700	\$284,300	\$0	\$0	2,726.00	
	201	\$18,800	\$187,800	\$206,600	\$0	\$0	-	
2022 Payable 2023	Tota		\$187,800	\$206,600	\$0	\$0	1,880.00	
	201	\$18,000	\$159,300	\$177,300	\$0	\$0	-	
2021 Payable 2022	Tota	I \$18,000	\$159,300	\$177,300	\$0	\$0	1,560.00	
		-	Fax Detail Histo		· ·			
	Tax	Special Assessments	Total Tax & Special Assessments	Taxable Land MV	Taxable Build MV		Tayable M\/	
Tax Year		7335331161113	A3363311161113			iola	Total Taxable MV	
Tax Year 2024		\$0.00	\$3,910.00	\$19,756	\$252,891		\$272.647	
Tax Year 2024 2023	\$3,910.00 \$3,086.00	\$0.00 \$0.00	\$3,910.00 \$3,086.00	\$19,756 \$17,103	\$252,891 \$170,851		\$272,647 \$187,954	







Date of Report: 5/10/2025 5:42:33 PM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.